Parametric Instablity in LCGT (ver. 2.3)
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e negative g-factor Ry = 1680 m, Ry = 1780 m
e positive g-factor R; = 14000 m, Ry = 7500 m
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Mirror radius r 110 mm

Mirror thickness d 150 mm
Mirror direction c-axis
Front mirror curvature Ry 1680 m
End mirror curvature Ro 1780 m
Power in the main cavity P 0.41 MW
Wavelength A 1064 nm
Main cavity length L 3000 m
Signal recycling cavity length Lgrc 66.591 m
Elastic Q-value @Q,, 108
Finesse F 1550
Power transmittance of the PR mirror Tpr 0.1
Power transmittance of the RSE mirror Trsg 0.37
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e negative g-factor Ry = 1680 m, Ry = 1780 m
e positive g-factor R; = 14000 m, Ry = 7500 m
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4 Anti-Stokes modes
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6 Beam miss-centering
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Density p 3.97 x 103 kg/m3
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Stiffness matrix ca3
Ca4
C44 C14
(c11 — c12)/2
c11 = 4.973 x 101 Newton/m?
c12 = 1.628 x 10! Newton/m?
c13 = 1.160 x 10! Newton/m?
c14 = —0.1290 x 10*! Newton/m?
c33 = 5.009 x 10! Newton/m?
caq = 1.468 x 10'* Newton/m?
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